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An Efficient Parsing for Highly Ambiguous Context-free Grammars
Based on Pruning

SHIN-ICHI MORIMOTO,t KIyOsHI ISHIHATA™ and TERUO HIKITA't

We introduce an efficient parsing algorithm even for highly ambiguous context-free gram-
mars. It uses a graph-structured stack as those by Tomita (1991), Kipps (1991), and Nederhof
(1993). Here, a graph-structured stack is a directed graph whose nodes are pairs of an item
and an input string, and whose edges are pointers (parent pointers), each pointing to a parent
node in the parse tree. Our new technique here is to prune the parent pointers pointing to
the nodes having the same item part. By this pruning, we cannot obtain all parse trees,
but we can reduce the size of the set of parent pointers to a constant, thus making the time
complexity of this algorithm O(n2). In this paper we first define the algorithm and show its
correctness, and then we analyze its time complexity. Then we show that by our parsing a
class of typical highly ambiguous grammars given by Kipps (1991) that need O(n3) by his
algorithm can be parsed in O(n?). Finally some study is made on the range of prunable

grammars.
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Fig.1 Stack set and corresponding graph structured

stack.
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Fig.2 Graph-structured stack after pruning.
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Fig.4 Examples of lz
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oooooo

Shift0(z,a) 00 00 SOeitem(a) D00 z 000
ooodob e0bOO0OO0OO0OOOO0OOQOOOOOOO
00 O Shiftl(z,e) D000 Sleitem(e) D000 z O
gooobdld e0O00O0OO0OO0OOQOOOOOOO
gobooog

03 010 GlLOooooo&z
SOeitem(c) DO OO0

Shift0((Z : b_c,ab),c) = {{(Z : b c_,abc)}.
gooooooosboood
(S: XY d,ab) € Sleitem(c) DO OO0

Shift1((S : XY d,ab),c) = {{Z : c_,abc)}.
gooooobooendnod

00 70 Redex
Redex = {z € Jg | body(z) = (r,4r)00 00
r e P}
ooooood

00 80000000000 o = ((rntr),a) €
Redex 0O 0O0OO

RoOeitem(z) = {{(r',n'),a’) | r},\yy = ro}0

Rleitem(z) = {((r',n'),a/) | (@', n")| T, +"O

ooo e P}

b_c,ab) €

gooood

RedexO body OOOOOOOOOOOOOOOOO
body 000D O0OOOO zO0OOO ROeitem(z)O
Rleitem(z) 000000 z O Parent 000000
0000000000000 0000OROeitem(z)
o000 000000000D0000000 body
OO0O00000000 Parent 000000000
O00000000O0RIeitem(z) D000 20000
000000000000 bodyOODOOOOOO

2z’ € ROeitem(x) (S: XY _d,abce) € ReduceO(z’, x)

0 7 RoOeitem(z) O ReduceO(z’,z) 00
Fig.7 Example of ROeitem(z) and ReduceO(z’, z).
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Fig.9 Parse tree and corresponding parse stack.
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23 € Fqp N Sleitem(c)0 ys € Shiftl(zs,c) OO0 00O
000000000 2000 (3)00 ys € Eape
oooobobooogoo 120 E, ODOOOOOO
O00(S: XY d,ab)000 Eu 00000000
0(Z:c,abc)00000000OO0ODOOO

000000 (3)0 Parent(y) 000D OO
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Parent(ys)
={z | z € Eq N Sleitem(c)0 y3 € Shiftl(z,c)}
0000FEgNSleitem(c) = {x3}0ys € Shiftl(zs,c)
000 Parent(ys) = {zs}0
xa =Y :Z e_abce)0zy=(S: XY d,a)0ys =
(S : XY _d,abce) 0000 0xs € Reduce(g) (Fapee)N
RedexO zj € Parent(zs) N ROeitem(z4)0ys €
ReduceO(z},z4) 0000000000000 20
OO0 (4)00 ya € Baree 000000000 12
0 Fapee DO0O00000O(Y : Z e_,abce)0 00 Egpee
O000000(S: X Yd,abce)DOOOOOODO
000000000000 (4)0 Parent(y) 000
ooo
Parent(ya)
= {w | w € Parent(2'), 2’ € Parent(2)
NROeitem(z), z € Reduce ) (Fabee) N RedexO
ya € Reduce0(z', 2)}
0000z =(S: XY d,ab) 000D
Reduce ) (Fabce) N Redex = {z4}0
Parent(z4) N ROeitem(z4) = {x}, x4 }O
Reduce0(z}, x4) = Reduce0(zy, z4) = {ya}0
Parent(z}) = Parent(z}) = {eo}
oogo
Parent(y4) = Parent(x}) U Parent(zy) = {eo}.
x5 ={Z :bc,abc)0xg = (S: XY d,a)Dys =
(Y : Ze,abc) 00000xs € Reduce)(EFase) N
RedexO x5 € Parent(zs) N Rleitem(zs)0ys €
Reducel(zs,z;) 0000000000000 20
OO0 (5)000ys € Epe DO DOOOOOOOO 12
0 Ew. 000000000(Z:bc,abc)000 Egpe
O00O0O0OoOoo(Y : Ze,abo)DOOOOOOODO
gpboog
000000 (5)0 Parent(y) 000000
Parent(ys) =
{7’ | 2’ € Parent(z) N Rleitem(z)0
z € Reduce(g)(Fabc) N Redex, ys € Reducel (7', z)}
000025 =(Z:c,abc)0 z5 = (S : XY d,ab) O
gooo
Reduce(g)(Fabe) N Redex = {xs, 25 }0
Parent(zs) N Rleitem(zs) = {z5}0 Parent(zs) N
Rleitem(z5) = {z5}0
Reducel (z§, z5) = Reducel(z5, z5) = {ys}
oogo
Parent(ys) = {z5, 25 }.
goobobbO0oooooboobobobbooooo
013000d

goooooooooooooooooOobobooOoooooooo 73

Bt (2) 1T & B4R

1S: XY digf = N\ Z:be. iabg

x2 € SOeitem(c), Parent(xz) = {z}}
Shift0(x2, c) = {y2}, Parent(y2) = Parent(z2) = {}}

By (3) ISk BAR
b [A— ] )\ / Y3 \
[$: Xy dTg)~——S: XY diabl——A Z:c. [abc)
z3 € Sleitem(c), Parent(z3) = {eo}
Shiftl(zs3, c) = {y3}, Parent(y3) = {z3}

By (4) 1T & B4R

z), x| € ROeitem(z4), Parent(xs) = {z,z]
Reduce0(z/), z4) = ReduceO(z), z4) = {ya}
Parent(z)) = Parent(z})) = {eo}

Parent(y4) = Parent(z/,) U Parent(z)) = {eo}

B (5) KkDBEK
é:X-Y di ai,

zf € Rleitem(xs), Parent(xs) = {z}}

z € Rleitem(zs), Parent(z5) = {21}
Reducel(zf, z5) = Reducel (2}, z5) = {y5}
Parent(ys) = Parent(xs) U Parent(z5) = {zf, 2 }

013 0000O00O00O0o0OoOoo
Fig. 13 Example of Graph Structured Stack Generation.

001 a € VrOa € Vy"Oz € E, DO0OODO
x € SOeitem(a) O OO y € Shift0(z,e¢) 00000
oooo

Parent(z) = Parent(y)
ooooog
000 y={{r,n),a-a) 000000020 ((r,n—
1),e) 0000000y 0O0O000OOO0DOOOODO
0200000002000 (2)0 Parent(y) 00
oobobo:000000000000o0o0o000° 0O

00 110FE°0 o€ V" 0O0000E*000OO0
ooooooo
E® = {o | Parent(o1) = 00O
o; € Parent(o,41)(1 < j < f#o),04 € Eo}.
E“0O00000E, O Parent 000O0O0O0OO0OOO
ooboooboooooboooooooon
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7:b c_labc]
0'13

o3 =0

3

014 @G10000 E*° ={c',0%, 0% 0%} 000
Fig.14 E®’° = {01,02,03,0—4} in G1.

08 010 G100000E%={s', 02 0% 6%}0
ooo

= (e0,{S: XY d,ab),(Z : c_,abc)).
c'0c?06%°0¢' 00000000 140000000
00 e 00O0D00000000D0O0 ¢'0O6%06%0
o000 100 L0 o 0e*0e%0¢** 0000
00000000 E® 0 L®0000000oog
L0 E*000000000000000000
00000000 10000000 20000000
000000000000 000000000000

001 o« € VP O0OO0OODOXN € L 000
A€ E°D
002 o € V" OOOUOOXN € E* 000
AeLed

OO0 1000 2000L0 E*000000O0OO
gooooooooooo1000 20000000
ob1o00oocooboz20000000000000
goooooobooooboobooo

5. J000O0oooobooogon

goooooooooooooooooooooon
goooooooosioooo2ouooooon
ooooOO0OO0OD0OO0O00O0OOOO0O0OD00O bodyOOO
Ooo0oo0o0ooooooOooobo0o0o0oo00le O
O0O0O00000000000 ParentOO0O0O0O0O
gooobooooooooooboooooonoooo
0000000000000 Parent 0000000
gooobooooooooooboooooboooobo
goooboboooooooboboooooooooo

Oct. 2006

goobooooooboobooooboobooo
ooo
51 JO000O0OO0ODOODOODODbDODbOOoO
0000 HOOOOOOOOOO |HloOooo
00 120SuccO O i=(r,n) € Ig (0<n < fr)
gooo
Succ(?) = (r,n + 1)

goooobo
200000000000000000D0ODODO
02000 (2)-00 (5)000000000000
gooobooboobooboobon

00130—0 000 z0ye EFODDOO
(1) =z € SOeitem(a)dy € Shift0(x, a)O
(2) =« € Sleitem(a)dy € Shiftl(x,a)0
(3) =z € RedexOy € Reduce0(z’, z)

000 2’ 0 2’ € ROeitem(z) N Parent(z) 0 00O
ogd
(4) =z € RedexOy € Reducel(z', z)

000 2’ O 2’ € Rleitem(z) N Parent(z) OO
ooo
goooboobobobodfz—y 0000~ OO
00000 —*0000

09 ODr70DOO0O0O0ObOOOD 110 GrOoOoOO
0000 2000 (2)0000(Z : beab) OO
(Z : beyabey OO0 O0O0OO0OOO(Z & beyab) —
(Z :be_,abc) 00DDOOO00DD

eo— (X ra.,a)— (S:X.Yd,a) — (Z:bc,ab)
— (Z : be_,abe) — (Y : Z_e, abc)
gooobooo

(S:XYd,a)—" (Y :Ze,abc) DO0ODODO
— 0O Parent(z) 00O 0000000 DOOOODO
00 1 ye€Parent(x) 000 y—" 20
001400000 DOOO0ODOO DCJg OO
body(z) =body(y) D0 D0O0O00 z0ye D OO
00 =y 000000000000 separatel] J0
goooo

gopbooob 200000 E,000000DO
mput 0000000000 E, 00D0O0O0OOO
000000 2000 (4)0000 Parent(z) O
goooboobobobooboboog

00 2 z0z'0y0 z € RedexOz’ € ROeitem(z)N
Parent(z)0y € ReduceO(z’,z) OO0 0000
O0OParent(z) 00000000 OParent(y) =
Parent(z’) 000000

000 2 € ROeitem(z) N Parent(z)Dy €
Reduce0(z',z) 0000 2 000D000O0D00
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y € ReduceO(z’,z)0y € ReduceO(z’,z) OO
body(z') = body(z’) 00000000 Parent(z) O
00000000« =2 000000000000
y € ReduceO(z’,z) 0000 2/’ 000 100000
000000 2000 (4)0000 Parent(y) OO
0000 Parent(y) = Parent(z') 000000 O
DO0O0O00O0O0O0DO0O0D0O0 mputd00OO0ODO
000000 DOLRO)ODDOOD I O0OODO 10
1000000000000 0000DO0O00 Eawe
O0000000FEw. 0000 inputO0O00Qoon
00000 {Z:be,Y :Ze,Z:¢c}0 Ic 0000
gobdC0lg00O0O0ODOOODOODOOOboObOO
obobobooboobooboooo

002 DCJeOOOOODDODOOODOODO
ID|< |lc|0000000000000000000
002000000000000000I¢|000
00 GO000000O0000D000 nOOOODOO
gbobooboboo

001400 E, 00000000000 E, OO
00000 20000 Parent(x) DO0OO0OO0OODO
gboobooboobooobooooboooboo
00000000 Parent(x) DOOOOO

010 0O 12 0000000 DOParent((Y

Z_e, abc)) OO(S: X.Yd, a) O (S:X_.Yd, ab) O
obobooobooooooo

000000 Parent OO0 0O0ODOOOOODOODO

00 3 1,z €Parent(z)dbody(z1)=body(z2)0
input(z1) # input(zxe) 0000 z0x:02, 00O
O0Obody(z1) = body(z2) = ¢« 00000z =~
(Suce(i),0) 0000 a€Vp* 0000000

x1 —" (Succ(i), )0

x2 —" (Succ(i), )
opooogo
000z 09 € Parent(z) D00z —" 2020 —" x
00002 = {Succ(i),a) 00000z —*2' 000
oooo

o~ =" 20

To— "2

goboooooooooo g

011 010 Gl O000 o= (Y : Zee,abe)0
x1=(S:X.Yd, a)0xx = (S: X Yd, ab)0z’' =
(S : XY.d, abce) 00000z, z2 € Parent(z)O
z—*7 0000x:02:0202' 000 300000
0000 sy —*2'0xe—"2' 000000

O00000000000000000000000000000 75
s s
/’b/\\4 /‘Q
vy u X v d
@ /\b
57 g
A A
l 7 e /\ 7 e
A | 1
T A U A A
leols: X Ydiafv:Z elabd [eols:X_vdiabl:Z clabd
s s
A A
X v X/Sl\d
J /\ /\ AN
€ 7 e
b C b l

015 00 3000G1 000000 abce 00D

Fig. 15 Example of Theorem 3 : Parse process for abce.

00300000 1500000 15000000
0300 —"2z—"2' 0000000000000
0000300 zo—"2z—"2’ 000000000
Jo0o0oO00DbO ebe O0DODOZ0O00DO0ODO
oo ooooooboooooo
Gl0000000000000o00 2000000
goobOoobobooboo20b000bO0o0obooboo
0000000 00000000000 210200
000 120 Parent(z) 0 2102, 00O00000ODO
ooo

0155000000000 e00000Y :ZeO
Oo0bOO0oO0b0O00DoOoOoDoDoOoooooobo«-O00O
0000 = 0 2, 00000 2 O shift 00000
2000000000 bobooboobooa

0100000000000 o0boooboooo
Oooog 10000 2000000b00o00oooo
OO000d0000Db0000DO0O0ObObOOoOno
OooDo0dbOo0ooOo 20b000000D00000
0O0D00O0200000000000000000O
00000z 02z0000000000000000
000000000200 shift0000 200000
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goboooboooboboooooobooomoo
gbobooooobooboo20b00b0obobooo
goooboboooboobo 2000b0b0b0O0bOoo
goboooooooo i oooooooooooo
goooboobooooobooboooooboo
gooobbobo0obooobobo2000b00bD00
gooobooobooboobooooobooobog
goooboobooboboboobooobooboo
gboobooboboboooobobooboobobooo
goool1oooboooobooboobooboboo
gooooboooobooboobooboooooboo
gooooboooooboobooboooooboo
gbobooobooobooooooooobooo
5.2 OJO0OO0OO0OO0O0OOOOOOODOOO
0000000000 Parent OOOODOOOODO
00000 Paeent 0O O O0OOO0DOOOODDOODODO
gobooobboooouobooobooobbooo
body OOOO 2000000000000000O
O0000 Parent DO O 0OOODOOODOODOO
goooboooboobbooboboboboooboo
gbobooobooooooo
00 150<0 =z # ey # eodbody(z) =
body(y)U input(z) # input(y) D000 agz,ay €
Vr*Ox € Eo,0y € E,, 00D0ODODO

Vz' € Parent(x) . 3y’ € Parent(y) . 2’ =/

oog ' <y

ooboo0o0bboUbOx<y 000000
z <y 00 Parent(x) C Parent(y) 0000000
gobooobooooo 1boddz<ydooooo
O00Vz' € Parent(z) . 3y’ € Parent(y) 2’ =y’ O
0000000 V&' € Parent(z) . 3y’ € Parent(y)
/<4 000000000000000 20000
ooboboilednonO
o0 «s<200000000000
ooos30000 10000 110000000
000 z0y € Parent(z) 0000 2z <y 0000
Parent(2) 00 x 000000000000 0O0O0OOO
012 0110 z0Oz10z, 00 000OParent(z1) =
Parent(z2) = {eo} DO00O0OD0 1500000000
U0z <2000 2o <2, 00000000OO 15
0000000G10000 abe 00000 Parent(z)
00 z 000 2, 000000000 Parent(z) O
r; 0000000000 =z 00000000ODOO
gboboboobooooooooo
ooboo0 <x000000b00000oooooDoo
oooooooo § 840000 S0000

Oct. 2006

JERHIH R B o o .

€0

Va' € Parent(z) . 3y’ € Parent(y) 2’ =y’

it o o .
eo R e Y e F

wa y y
19 12 i Oyl [0y

Va' € Parent(z) . 3y’ € Parent(y) 2’ </

016 z<yOOOOOODO
Fig.16 Examples of z < y.

T

000000000000 0000008body 00O
S5 40 8:$4_0000000 EO00OOOO
gooood
obooooz200000b00rO0D0O0O0COO
eoc 0O00OOO0D0ODOODOODOOODOOOODO
Parent 00000000000 ODOOOOODOO
o00o00oFE 000000 20000 Parent 0O
000000o00o00o000o00000 Parent 00O
gbobooodoooooooooooooooooa
Oe 0000000000 20 ParentOOO00O0O
O000input 00000 Parent 00000000
000000000Parent 00O0O0O00O0OOOOO
gbooobOoobOoopO0O00 00000200
eo 00 Parent 000000000000 Level(x)
O0000OLevel(z) 000000000000
OO0 160Levell ze EOOODOO
r=e OO0

Level(z) = 00
rx#e 0000

Level(z) =1+max{Level(z") | ' € Parent(z)}.
010 2002z ODO0OO0OO0OO 12 00O
Level(z1) = Level(z2) = 10 Level(z) = 2 000
ooo

0000 Level(z) 0000000000 <000
0000000 15000e <2z 000 z<e 00O
00 FEO0O0 z#e 00000000DOOOOO
gooooo

003 z <y 0000 20y e EOODOODO
eo € Parent(z) OO0 eo € Parent(y)O

b le0n0o0ooO020000000000
O04 z € F OOOOOx # e OO0
Level(z) > 1.

005 zO02' e E0D0O0O0 € Parent(z) OO
0 Level(z') < Level(x).

<0 Level(z) D0O0OO0OO00O0OOO0OOOO
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006 20y €¢ EO00DOz < y 00O
Level(z) < Level(y).
OOOLevel(z) D0DO0O0OO00OUOODOODOO
(1) Levelz) = 1 D0OO0O0DO 16 000
Parent(z) = {eo} 000000z <y OO0 30
OOep € Parent(y) 0000000000
Level(y) = 1 + max{Level(y') | v’ € Parent(y)}
> 1+ Level(eo)
=1 = Level(z)
goboooooooooo
(2) Level(z) < k0DODOOOODODOO
O0OO0OLevel(z) =k+1000000000xz<y
O00Parent(z) 000000 2’ 000002 =9/
000 2’ <4 0000 Parent(y) 000 ¢ 000
000« =y 00000Level(z') = Level(y') OO
0000« <y 000002 € Parent(z) 0000
00 500 Level(z') < Level(z) = k+1 00000
00000000 0Level(z') < Level(y') 0000
gooood
Level(z) = 1 4+ max{Level(z') | '€ Parent(z)}
< 1+ max{Level(y’) | ¥’ € Parent(y)}
= Level(y)
oooooboooooooo |
00 30<00000 «z0ye 000002 <yO
y<z000 <20
O0OLevel(z) 00000000000 DOOODOODO
(1) Level(z)=10000z<y0y=<20000
00 600 Level(x) < Level(y) 00O Level(y) <
Level(z) D0 OO0O0O0OODO Level(z) =1000 40
O Level(x) = Level(y) = Level(z) =1 000000
00 16 00 Parent(x) = Parent(y) = Parent(z) =
{eo} 00000000 DOOOOOOOOUOODODOO
(2) Level(z) < k0DOO0OD00O0DODOO
OOLevel(z) =k+1000000000z<y 000
Parent(z) 000000 2/ 000002 =4 00
04 <y 0000 Parent(y) 000 ¢ 0O00DO0O
/=9y 000002 € Parent(y) 000000y < 2
00000 20000 2 =2000 2 <200
00 Parent(z) 000 2000000000000
00 2<2000000 <¢ 00000y<20
0000 ¢ 0000 ¢ =2 000 ¢ <2 0000
Parent(z) 000 2 000000y =2 00000
¢ =y 0000000 2<2000000y <2 O
000 2’ <y,y <2 00000002 € Parent(z)
000 600 Level(2') < Level(z) = k+1 0000
00000000000 2 <72 000000z<2

goooooooooooooooooOobobooOoooooooo 7

0 17 G1 00 Prune(Parent({(Y : Z_e, abc)))
Fig.17 Prune(Parent({(Y : Z_e, abc))) in G1.

000000000 Level(2) =k+1000000
ooooobg O
g0 170000000000 DCEOxze DO
0000D, ={y|y € DObody(y) = body(x)} O
goooobD, 000000 O0OOOOz<p, O
ooo b, 000 p, 0 x0000O0DOOODODO
0000 0000 . 00D0OO0OODOODOOOD
ooobooooo

D, 00DD0OO0O0O0OOO body OO z O body 00O
J0oob0o000b00bO0o0b0.0000DO0 D, OO0
gooboobbo0ooooobbOoooopOoboooog
000000DO0OD0000D bodyOOOOODOOO
goobo1ooooobboobooooobobooo
goooo

goooooOo 1 30000o0ooooooooo
J0000ooooooooooooooooooooo
00 180Pruned OOOO0OO DCEOOOOO
2€DOP, ={p, |p. 0 20000 } 00000
0000 P, O000O100DO0ODO0OODOODOOOO
0000 0000000000 Prune(D) 00O
ogo

Prune(D) OO0D O0OO0O0O bodyOOOOUOO
gooboOo1b0booboboooboboooo
013 0110 zO0xz102, 0000 OParent(z) =
{z1,22}0x1 < 22022 <21 000 2102, 000
00000000 0OParent(z) 00000000,
O Prune(Parent(z)) 0000000000000 17
oooad

00 800000000 DDOOa

004 DCEOOOOOPrune(D)00O0OO0O
O0OPrune(D) D0O0OOOOO
gobooooobooobobooobobobobooo
gooboooo

0019000000000 oOoDooo Goo
O00DF 000000 20000 Parent(z) 00O
0oobDoooooGoooooooooooo
014 0O 13000000000 10 G1 OO0
Parent(z) 00D 0000000GI00O0O000OOO



78 goooooooooooooooo

1S:aT q Tal+T: XY diable—{ Z:c_ labd]

018 00 G200000000000000
Fig.18 Unprunable case in G2.

gooo
015 G200000000000000000
oono
(r% 8" : 54 (rh) S Tf (r*) S: aTg
(M T:XYd ()X (r%) X
Y :Ze (r"y Z (r )Z bc

4

G20000 Eabcz{al,UZ,a,a}DDDDDD
001800000 18000(T: XY d,a) < (T:
XY dyab) O (T: XY d,ab) < (T : XY d,a) O
0000000000000 Parent((Y : Z_e,abe))
0000000000 G20000000000000

oboboooo3sgooooobooooboooooboo
goboooooooooooooooo 200000
0000000000 (5)000000 Parent(y) =
P'(y)0 O O Parent(y) = Prune(P'(y))0 00000
goooboooooooooooboooooooo
oo

U s Oooobooo3oooooooooon 2
0000 z0 yOOOOOParent(x) D0O00OODO
00000 (2)0(3)0(4)000000 yOOODO
Parent(y) 00O 00O0OODO

00000 (2) 00000 100 Parent(y) =
Parent(z) 0O O OOParent(z) DO O OO0O0OO
Parent(y) 0000000000 (3)0 0 0Parent(y)
CE,0000E, 0000000 Parent(y) 00O
0000000 (4)000Parent(z) 0000000
OO0 200 Parent(y) JOO0OO0OOO g
00 50000000000000000Parent(x)
O000o0oU0ooUooOoooo 2000 (5)00
Parent(y) O Prune(Parent(y)) D00 0O0O0O00OO
000 Parent(y) 00D 0OOOO

ooooobo20000000000 E,0D000
goooobooooobooo 3sbboboooooooon
E,0oooooooooOooobooOoo 20000
0O E,00000000O0C0000O0300000
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E, 0000000000z € B, 0000 Parent(x)
gobooooooooobooobooocOouooooboooo
goooooo

006 DC FEFOUOOOO0OOOOOPrune(D)
goooooooo
b0 yeDOOD0OO0OOODOODODOOOOODODOO
O0OPrune000000 y<20000 DOOO 2
0O Prune(D) 00000000000 z<y 00O
ODp0O00 000000003000 z=<200
000000y 0000000 Prune(D) 00O z O
goooooooo g
006000z ¢ E, O000DO0O0E, OODOODO
go020000000000000000O00ODOAO
Parent(z) 00 O000OU0O0O0O0OE,0000O0OO 3
00000000000000000000 Parent(x)
goooooooooooooboboooooboonoo
gooooo30oobooon

5.3 OD0OO00OO0OO0O0O0oO0OoboOooooo
000000000 00oU0o0O00 Parent(z) O
Prune(Parent(z)) 000000000 ODOOOOO
00 GOO00ooooooooooooooooog
goboooooouooobooocboOoooooobooo
gbOooboooooooooooboooon 1300
goo0ooooOo0 —»*0O0O000D00oooooo
ooo

007 eVy"0 GOOODOOOODODO

(t0,e) = (8" : .S H,¢)

—* (8" S_H,a’) = (Succ(io), ')
goooooo

008 acVp*00000«-g0 GLOUOOODO
pgeVyp*oouooooooo

(0, &) —" oy —" (Succ(ip), a - B)
0000 ceE*0000O0ODO

o0 s8uoooooono oObbOOO0OO 200
c € L 000 «0000000D0O0DBOO oy
01<j<t4e00000000000000O00y —"
(§':S.4,0-4) 0000000000 000000
0000 c000O0000 o01<j<o00000
goboooobobooooobde; 00000O0OOOO0
0 Parent 00000 oj—1 0 body 00 body(oj—1)0
0 Succ(body(o;—1)) 0000 O OSucc(body(oj-1))
0000000000000 Parent 00000 o2
0 body OO Succ(body(c;—2)) 000000000
gbooooboooobooooooooo

009 aeVyp"00000«-p0 GOOOO
0OpgeVy0000000000OOODOOOOO
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o€ E0a, €Vr*01<j<te000000000

gpooogo

(1) o1="{io,e)0a) =c«-p0

(2)  (Suce(body(a)), o)
—" (Succ(body(cj-1)), 1) (1 < j < fo)0

(3) oyro* (Suce(body(ogo-1)), A1)

016 010 G1 00000« =abc € V™ O
O000a-40 G1O0OOO00 B =ed € Vot
0D0D000D00000 o = {01 = (i0,€)0
o2 =(S: XYda)Jos = (Y : Z_e,abc)} € E**°0
oy = abcedd oy = abce € Vr* 000000
o3 = (Y : Ze,abc) —" (S : XY_d, abce) =
(Succ(body(a2)), ap)0
(Succ(body(o2)),ah) = (S : XY._d,abce) —*
(Succ(ip), abced) = (Succ(body(o1)), o)

OO0 2007*0 V" 00000I*CIc™ 00
obooooooog

I“={p|3c € E* 000 #p=to0
pj = body(g;) (1 <j<fp)}0

[*00000F*0000 bodyOOODOOOODO
gpboog

017 010 G1oooooreee={p',p p p'}
oboboobo

1

pt=(p"1, 0" 50"
PP =(p"1, 02, %5
p° = (p°1,0%5. 0%

= (i0,5 : X_.Yd, Z : bc)O
= (3 : X.Yd,Y : Ze)O
= (i : X.Yd,Y:Ze)O
pt = (p41,p42,p43 = (i0,S: X.Yd, Z : c.).
I 000 p'0p°0p°0p* 000 80 E 000
o'0c?00%°00* 0 body DO OO0O0ODODOOOOOO
0000 o' = (e, (S: XY d,a),(Z :bc,abc)) O
body 00DOOODOOOO p' = (40,5 : X.Yd, Z :
b)) DODOO
00 210FE°07°0 000 z€ B, 00000
E®*={oc|o€ E% oy =2} CE*O
I" ={p| 3o € E*,§p = {o,
pj =body(a;) (1 <j<tp)} C I
E°0 E*000 o000 oy =20000000
0000000 E°*0body 000O0OOO0DOO
oooooog
018 010 G10000 o= (Y :Z_e,abc) O
D000z € Ew. 000 E*0 E** 000 o000
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of =200} #2 0000E" ={0%¢°} 0000
c’06¢°0000000001900000000 120
0 E® O Parent(xz) O Prune(Parent(z)) 00000
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NN NG NG

goooooooooooooooooOobobooOoooooooo 79

019 G1oooo EYiZ-eabe) — (52 531 000
Fig.19 Elements in B(Y:Z-¢:abe) — (52 53}

S: XY dia

020 G1o000 EYZ-2ae)0Prune 00000
Fig.20 Elements in E{Y%-¢:2b¢) (Prune version).
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00000 E® O Parent(z) O Prune(Parent(x)) O

000000 «2000000000 I° = {p2, ps}

O00000p2=ps={io, S: X.Yd, Y:Ze} OO

0 O Parent(z) O Prune(Parent(z)) DO0O0O000OO

Fooogooog

o090 /*00000000DOOU0OODOOOO

0010 ac€ V" O0000D0@-g0 GOOO

00 peVpy*00000000O0ODOOOOOO

pel*dz e E,Oa; e Vr*01<j<p00000

obobobooboo

(1) p1=1dp,a) =a- B0

(2) (Succ(ps), a}) " (Suce(ps—1), a_y)
(1<j<tp)0

(3) = {psa) —" (Succ(pgp-1), ¥fp_r).

OO0 10000000 ze B, 0000 I"00

gooobooobooboboboobbooboobobooo

goooboooboobooooboooooboooboo

O000O0OFECOI*0OFE*0OI*0000000O0O00

obobo

007 acVpy" 0000

E*=U,cp B" I°=U,p I"

008 zekFOOODOO

E* = U {o-z|oceFE}0
y€EParent(z)

r= |J {p-body()|pel}.

y€EParent(x)

0000000000000000000
0011 z<yD0OO0O0O I* C IO
OO00Levellz) 000000000000000
(1) Level(z) = 1 000000 16 000
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Parent(z) ={ep} 000000z <y OO0 3000
eo € Parent(y) 00000000001 ={ip} CIY
000000000000

(2) Level(z) < k00DDD0OOOOOOOOO
OOLevel(z) = k+ 1000000000z <y O
O0Parent(z) 000000 2/ 000002 =y
000 2/ <y 0000 Parent(y) 000 ¢ O
00000« =y 000007 =¥ 000000
' <y 00000 € Parent(z) 000000 500
Level(z') < Level(zx) = k+ 10000000000
0000/ C ¥ 00000000000000000
I Y 0000000080000000 pel”
00000p=p -body(z) 0000 z’' € Parent(x)d
P el” 00ooor crr ooy ely ooo
0000000Op=p -body(z) = p’-body(y) € IY
0000000O000o0O0 0
00 8000 11000 17000000000000

004 zeEOOOOO

U r= U v,

yEParent(x) yEPrune(Parent(z))

0000000z € E, O000OO Parent(z) O
Prune(Parent(z)) D00 00000
U r
yEParent(x)
ooooooooobooooooooboooooDo

000 Parent(x) O Prune(Parent(z)) 000000
goodooobbobobboooooooobobooobo
gobooooboobooboboboooboooo
goboooboooboboboboboobooobooo
ooo

goooooooooooobooo 110g

FCcroddz=<y

gooooo
000« € Parent(z)dp € I* 0DOOO0) -
body(z) € I° C [ 000000 800 p e I
000 y,, € Parent(y) 0000002 #y,, 000
000000000 000000 Parent(y) 0000
DDDDDy;/ good py;/DDDDDDDDDDS
000p" = p”-body(z) = p” - body(y,,) 0000
007” 0000000 ¢ 0000 body(y,) 00
gooboogod

000 I 00oooooxO p'l][ll]l]l]y;, od
gooboooobooobooboobobobooooo
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0p, 00000000 I*¥ 0000000 ¢ 00
DDDy;<pyDDDDDD11DDI%w;ﬁwm
0oo0Oooo® CI’ 000000000000
000000 &/ <p, 0000000000 1500
r<y000000 0

6. DO0OO0OO0OO0ObOO0OO0OO0O0OOobDOooOon

gbooboooboobooboobooobooobooog
goboboooboobooobooobooboobogo
goooboooooboobooooboboobogon
040000000 00000000004 000
goobooobooboobooobooobooboogoo
gboo0s0b00000b000oocoooooo

gooobobooooobobooooooooboo
JooO0O0O0O00Parent OOOOOOOOOOOOO
000000000000 Parent000OOOCOOOO
0000 Reduce U »n 000000Reduce[n]000
00000 20 Reducepy(Fao) 00000000
000000 Iscprec(z,y) 0000 PrecTabO OO
000000000000000 Isprec(z,y) 000
O0000D0DOD0O0O0OCOOO00O0OPrecTab00OOOd
0000 00000body(z) = body(y) =i 0000
20y € E 0000 0OPrecTab[i, finput(x), finput(y)]
D000z <y0O00 10xz<y 00000 —-100
gboobo0OOO0OO0ODbOO0O0 «OO0O0OOO0OO0OOO0
O00D«e D 100000 yjO00D0O0DOODO 4
goooooooon

oobobodb4 DOODOOOODOOOOD a
Parse(a) /*a 00000 TrueD 0000000 False 100 */
(1) Biop:={eo}; Parent[eq]:=0;

(2)foricle
(3
(4

)

) for j from 0 to fa for k from 0 to o

) PrecTabl[i, j, k] := 0;

(5) for j from 1 to fo

(6) Eiop:=Goto(Eiop,aj);

(7) Evop=Goto(Brop.);

( 8) return (Eyop# 0);

Goto(Eu,a) /* Ea 0 a 00 Ea., 00000 */

( 9) Reduce_base:=0;

(10) for x € Eq

(11)  if € SOeitem(a) then /* 00 (2)000 */

(12) E_shift0:=Shift0(z, a);
Reduce_base:=Reduce_baseUE_shift0;

(13) for y € E_shift0 /* 00 (2) O Parent[y] */
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(14) Parent[y|:=Parent[z]; /* 00 100 */

(15) if z € Sleitem(a) then /* 00 (3)000 */

(16) E_shift1:=Shiftl(z, a);
Reduce_base:=Reduce_baseUE_shift1;

(17) for y € E_shiftl /* 00 (3) O Parent[y] */

(18) Parent[y]:=0 ;

(19) for z € Eq

(20) if z € Sleitem(a)Ay € Shiftl(z, a) then
(21) Parent[y|:=Parent[y]U{z};

(22) return Rclosure(Reduce_base);
Relosure(D) /* 000000 2000 (4),(5)000 */
(23) n:=0; Reduce[0]:=D; Reduce[1]:=0;

E_return:=Reduce[0];
(24) loop /* 00000 ((24)—(42)) D000 (39) OO */
(25) for & € Reduce[n]NRedex
(26) for 2’ € Parent[x]
(27) if 2’ € ROeitem(x) then /* 00 (4)000 */
(28) E_reduce0:=Reduce0(z’, x);

Reduce[n + 1]:=Reduce[n + 1]JUE_reduce0;

(29) for y € E_reduce0 /* 00 (4) 0 Parent[y] */
(30) Parent[y]:=Parent[z]; /* 00 200 */
(31) if 2’ € Rleitem(z) then/* OO (5) 000 */
(32) E_reducel:=Reducel(z’, z);

Reduce[n + 1]:=Reduce[n + 1]JUE_reducel;

(33) for y € E_reducel /* 00 (5) O Parent[y]*/
(34) Parent[y]:= 0 ;

(35) for z € Reduce[n]NRedex

(36) for 2’ € Parent[z]NRleitem(z)

(37) if y € Reducel(z’, z) then

(38) Parent[y]:=Parent[y]U{z"};

(39) Parent[y]:=Prune(Parent[y]);

(40)  if Reduce[n + 1]# 0
(41) then E_return:=E_returnUReduce[n + 1];
n:=n + 1; Reduce[n + 1]:=0;
(42) else return E_return; /*000 ((24)-(42)) OOO*/

000000 s DOoopoooooooooggd b
Prune(D)
(43) D_result := 0;
(44) for i € I¢ D_x[i]:=0;
(45) for z € D
(46)  Dx[body(x)}:=Dx[body(2)]U{x};
(47) for i € Ig
(48) if | Dx[i] | = 1 then
(49)  D_result:=D_resultU D_x][i] ;
(50) else if | Dx[i] |> 1 then

goooooooooooooooooOobobooOoooooooo 81

(51) p:=Dx[{] 000000;

(52) forz e Dx[i] /400000000 */

(53) if Is_prec(ps, =) then

(54) Pz 1= T;

(55)  for z € Dx[i] /* p, 000000000000 */

(56) if not Is_prec(z, ps)

(57) then 000 /* 0000000000 */

(58) D_result:=D_resultU {p, };

(59) return D_result;

Is_prec(z,y) /* o <y 000 True, 0000000 False */

(60) i=body(z); I, := finput(z); Iy := finput(y);

(61) if PrecTabli, g, ly]=1 then /* z <y OO0 */

(62)  return True;

(63) if PrecTab[i,lz,ly]= —1 then /* 2 <y 0000 */

(64)  return False;

(65) flag:=True;

(66) for o’ €Parent[z] /* 00 1500000000000 */

(67) x-flag:=False;

(68)  for y' €Parent[y]

(69) xflagi=x_flagV(z' = y')
V((body(a")=body (")) Als-prec(z’, 4'))

(70) flag:=flagAx_flag;

(71) if flag then PrecTabli, I, 1,]:=1;

(72) else PrecTabli, I, l,]:= —1;

(73) return flag;

o0 2200000 DCJegOODODOODO
z,y 0000 Oinput(z) =input(y) 00000000
D O0O0O0OOdegeneratedd 0000000

00 14000 2000000000000

oo0o9 DCJjeOO0OODODDODOOOOODO
pOoOoOOooogoog

0010 z,¢ € JeOa € Ve 00000
Shift0(z, a)0 Shift0(z, a)0 Reduce0(x’, )0
Reducel(z/,2) 00000000n 00000000
00o0o0o O(|lg)boooooooooo
00d0y0OOO0O040000000000000O06®60
00 900 body(y) O body(xz) O body(z') 00O
g0o0oo0ooobDO body0OOOODODO IcODDOO
00 0body(z) O body(z') 000000 40000
0000 bodyOOOOOODOOOOODODODOODOO
OoO00O0o0O0d bodyOOOODOO nOODO
gooobobooboboobooog

ooboe0bOv90bOODbO400D000DO

O0mput00000D0OOODOOOODOOODOODO
gooooooboOoOobD s0b0bOo0oboboooo
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gooooboooooooooooboooooooon
gobooOooooooboooooooboooonoooo
0000000(24) 000000 O(r) 00000D
O ||Rclosure|| O n x ||[Prune|| 000000000
oob0oo0o0o0oDOo000bo000D000Prune
0DO0oo0o00 O(r?) 0DOooo O

0013 00 nO000O0O0oooOooooan
Prune 000000000000 O(»?) 0000
000 (35) O Reduce[n] O (36) O Parent[z] OO O
O0000OPrune0 00000 Parent[y] DOOODO
|Ic? 00000000 Dx[i C Parent[y]0: € IgO
00 Dxfi]| < [Ie? 0000(52)0 (55) 0000
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(66) O Parent[z] O (68) 0 Parent[y] 000000
O0PrecTabO0 00000000000 OO0OOOCDO
(71)0(72) O PrecTabli, ls,1,] 00000000 O(1)
0000000 PrecTab(i, j,k)0i € Ig,0 < j,k <
pn000000D0000000D000 O(®*) 0000
00 n00000000000000 IscPrecOdn
0000000 O(»?) 000000000000 O

goboooooooboooooooon

005 000000D000D00000D00000
0000000000000 O(®?) 0000

7. 0000000 0DOO000O0DOoOO

00000000000000000000000
00000000000000 Tomitad® 0000
00000 O™ MDKipps? 000000000
Oo»*) 00000 S,,0m>30000000000
000000000000 O»?) 00000000
ooooooo

019 000000000O0D00O00O S300
ooo

(r°) 8" : 84

(r'ys:8S8 S (r*)S:8a () S:a
$3000 2)0 $3000000000000000
00o00sS30 0000 SO0000 mOOm > 30
000000000000 2)0000 S, 0000
020 019000 S3000000000 aaD
00000000000 L*00 2100000 21
00 fireduce O Jreduce 00 O0O0000OOO0O
s3oooo L+ oo L ooooooo L

Le [87: 5 He]

[S°SHic] S:a. _ia]
L

[ s+ S:Sa ia]

[S7:_s Hie]s:S.8 Sia]

[S7:_6 Hie] S:S a_ iad]
[S..SHie] S:S.a aq]
[S7:2S 7€ [S:S_S Siaq]

L* TS Ff[SSS 5ial S.a lad]
[S:Sde]S:S.SSia] S:Sa iaa]
[S”:0S H]S:5.5 SialS:5.S Siaa]
[S7:2S 4 e[S:5 S_Saq]

021 S30000 L*00
Fig.21 Example of L in S3.
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" petmty R0 FETEH] FOU Y ]
[S..SHie] S:S.a in] [S..SHie] S:Sa. mn+t1] S5 5S1
[S:.SHie] S:Sa n+1] "
[S: .S Hie]S:S.5 Sin+ 1] '525_5553'

[S:5.8 ST S:S.a in] [S:5.8 STl S:Sa. n+1]
[S:S.8 STI] S:S.a m+1]

[S:5.S ST1]S:5.S Sn+1]

[S:S S_STI] S:S.a in] [S:SS_STI]S:Sa_ n+1]
[S:8 S STl S:S.a n+1]

[S:S S.Si1]S:S.S Sn+1]

[Ss 4 1e[5:5.5 Sin]
[S: SHie[S:SSSin| S:a. m+1|
[S..SHT€]S:S.S Sin| S:Sa m+1]
[S°SHe][S:55Sin[S:5.5 Smn+1|
[S. 5 HTe]S:8 S S+ 1

[S:8.S Si1]S:5.8 Sin]
[S:S_S STT]S:S.SSin]S:a_mn+1]
[S:5_8 Si1]S:S S.Sn+1]

[S:5SS1I][S:5.5 Sin|
[S:5 5SS 11[S:S5 Sin[S:a_m+1]]
[S:SS5S1i[S:SSSmn+i

S:SS.Sin [S:S S.Sin] S:a. n+1]
[S:S S.Sin] S:S.a m+1]
[S:55.8in]S:S.S Sn+1]

022 S3000000000000000000
Fig.22 Stack top in S3.

goooobooooooooooooobooOooooo
02200000 2200 input00 " 0O nO00O0
2000000000000

oo 14

Parent({S : S_a,n + 1))
= {eo, (S : 5.5 5,k),(S:5 5.5,01)}
(1<k<n2<l<n)0
Parent({S: S_S S,n + 1))
={eo,(S:5.5 S,k),(S:8 5.5}
(1<k<n2<l<n)0
Parent((S: S S_S,n+ 1))
={eo,(S:5.5 S,k),(S:885.51)}
(1<k<n—-1,2<1<n-1).
00 <x0000b00b00oooobouoboboobo
o015 k<!i000O

023 S30000 Parent 00000
Fig.23 Relation among Parent sets in S3.
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Prune00000O0O0OOOCOOOOOOOOO
ob16 n>200000
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0000o00ooo0o0oooooo 1600 (G,k—1) €
Parent((:,k))01 < k < 4[T ey € Parent((,k)) O
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O000aeee 0000000000 (4,k)01 <
k<40000 Parent 0000000000000 O
0000000 (i,5) € Parent((i,4))01 < j < 40
eo € Parent((4,4)) 0000000000000
0000(3,j) € Parent((3,4)0j = 2,j = 300
eo € Parent((i,4)) 00O OO0

0000awee 000000000000000O0
0000 (,k)01 < k < 40000 Parent OO
00000000000 (3,2) < (3,3) 000 (3,2)
0000000 Parent((4,4) 0000000000
(4,3) € Parent((z,4))0eg € Parent 0000000
0o0oooooor®ol1<k<400000000
0000000000o0

8. ODO0O0Ooobooooboboboooooobo

d00o0odooOooDoobOoboooboooooo
gdobobooooobooboooo O(nz)DDDDD
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(2) 3 0y 000 <0000000001 < 40
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ooo

()8 84 (HS:a S (r3)S: X

FHX:Xa (HX:a

0000 S:eSO0X:XaO4d 0000
Parent((z',n)) = {{(z,k)}(2 < k < n)
0000000Parent((i, 1)) = {eo}0 Parent((z,n))
={(i,n—1)}02<n0000 (i,k)01 <k <nOO
00 <000000000000 | Parent((7,n)) |=
O(n) 00U0ODO0OGR, OOODOOOOUDOOOO
000000000000000000000 O(n?)
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[iln =1 i in]

0 24 Parent 00000

Fig.24 Relation among Parent sets.
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